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i Instructlons

1) This questlon paper contams Flve sectlons and 48 questions in total
2) All questions are compulsory. Options are internal.

~3) Figures to the right side indicate full marks for the questions.
'4) Answer the questionS'éecording to the instructions.

5) Start a new section on a new page.

SECTION A

LA Select and write the correct alternative (A, B, C D) from

- the options given below from questlons 1 to 10. Each questmn

| carrles 1t mark: S S [10]

1)  Which of the fellowin;g is the real indicator of economic
| develepment?
- (A) Increasein National Income |
-(B) Increasein literacy | “
(C) Decrease in unemployment

(D) Increase in Per Capita Income

2)  What was the Human Development Index of Norway in
20142 |
(A) 0-944
(B) 0609 -
(C) 0984
(D) 0914
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3)

Who gave the following definition “Inflation is said to occur

when monetary income rises faster than real income”?
(A) Lerner '

. (B) Keynes
~ (C) Pigou

(D) Marshal

4)

s‘)f

By which name is Central Bank of Indiaknowna-s 2
(A) State Bank of India - |
(B) Reserve Bank of India -

(C) BankofIndia

(D) General Bank of India

* What amount of rupees are decided by Tendulkar Committee

6

022(E)

“in the year2011-12 for decidirig poverty line in urban areas?

(A) 816

(B) 916
~(O) 1000
(D) 2000

The concept of unemployment is understood by which term?
(A)‘ Poverty | o

B) ‘Populatien |

(C) Education |

(D) Supply of active work force

In which rank India stands in high population countries in
the world? |

(A)” Second

(B) Third

(C) First

(D) Fourth
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8)

When was NABARD constructed?
(A) 1982 | "
(B) 1972

(©) 1992

(D) 1952

9)"

~ For the developmentof agriculture sector which S-year plan
- was implemented by Government of India?

(A) Second

(B) Fifth
(C) Fourth

| - 10)

i

e e AP L e

(D) Fimst ———— e o

What is an accounting statement showing the value of

- imports and exports of tangible and intangible goods &uring |

a year known as _

(A) Balance of 'Tradé

- (B) Exchange Rate .

(C) Balance of Péyrﬁgnt |
(D) Size of Trade

SECTION - B

B  All the questions from 11 to 20 should be answered in one-

two sentences each. Each questlon carries 1 mark : [10]

1)

022(E)

How 1s statistical information of continuous frequency

di strlbutlon represented?
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12) Who presented the concept of phySICal quantity of life

o s i A

index?
| 13) What is Reverse Repo Rate?
14) Give the name of first bénk established'in the world. ‘

15) Who is known as absolutely poor?.

16) How much was the female populatlon per 1000 male.
e

populatlon in Gujarat n 20112
-17) What do you mean by Cash Crop? |

“There is-Surplus-in- theBaLance@ﬁpaymem”e— whefu Al

-
> o}
N’

we say thls‘7 _
19) What is meant by exchange x;ate? o

20) KRIBHCO comes under which type of industries? |

SECTION - C -

B Answer the following questions from 21 to 34 in brief. Each

question carries 2 marks : o [28]

i T

21) State the different types of Diagrams.

22) Give the caution in using Computer Technology.

23)  Explainany two limitations of National income as an indicator

in brief.
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24)  State the characteristics of Inflation.

25) Define Barter system. Givé only points of lirmitafions. of Barter

system.

v26) i E:l:plainv~ ;‘Central Bank is Bén]_{er to the Gévernment”.

022(E)

27)" ,,Expla.in the modern eipproach of poverty;

OR

- What are the objectives of Pradhan Mantri Jan Dhan Yojana?

28) _Explain frictional unemployment with example.

= ‘297“ When and-witlr what objective Prime Minister Itrigation

scheme was sfarted?

30) Explain “Agricultﬁre as the-‘b’ack bone of Indian Ecbnotny”.

- 31) What is Green R"evoAl'utio‘n?v

E 32)* Give the meaning of Domestic /'Iniaﬁd and International

- Trade.
33) What is Speéial economic zone?
OR

- How small scale industries are useful in Decentralisation?

Explain.

34)  Give the definition of Urbanisation.
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= Answei' the following questions from 35 to 43 with a brief

SECTION - D

-

explanation. Each question carries 3 marks :

127]

35) _State the important aspectsto be considered 'while~ drawing
‘ a'dviagram and a graph. ‘
| OR
»E'xplain-thé usefulness of internet technology in the proﬂcess
of learning economics. | -
36) Discuss the functions of mbhey.

38)
39)
40)

41y

with example.
i .OR .
.. Write a note on qualitative tools of monetary policy of

| ReSgrv¢ Bank of India.
Explain social reasons of povefty.
Di‘sc{u'ss‘ any pbfee indicators of poverty.
’EXplain cauéés of low deafh fate in India.

Explain any three institutional measures to increase

<~ agriculture productivity in India.

42)

43)

022(E)

OR

Exvplain}crop rotation.
Explain any three reasons for international trade.

State the importance of education.
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 SECTION - E

"B Answer the following questlons from 44 to 48 in detail. Each

questlon carries 5 marks : [25]
44) Give the meamng of economlc growth and economlc' \ ’

development and write the difference between them. o
45) Describe any five causes of un-employment inIndiain detail. o

OR .

Explain any five measures‘ to solve the problem of un-

employment in India. |
46) Discuss importance of industries in Indian economy (Any

~ five points). | '

47) Give the meaning of mtgratlon and explam negatlve effects

of mlgratlon | L

OR

Discuss the positive effects of Urbanisation. |

48) Representand analyse the following datain abar diagram :

Year | 1971 | 1981 | 1991 | 2001 | 2011
|Population | |
inlndia | 55 | 68 | 85 103 | 121
(in crores) o |

Note': For Blind candidates —

Blind students have to do analysis only.

022(E)
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